Answers to Selected Problems

Chapter 15

15.1: (a) $9,000, (b) $6,000, (c) -$6,450.58, (d) -$6,771.46

15.4: Defender, AEC = $19,065.70; Challenger, AEC= $14,866.23

15.7: (a) 4 years

15.10: Challenger, AEC = $4,959.04; Defender, AEC = $5,824.62

           Replace the defender.

15.17: Challenger, AEC = $4,198; Defender, AEC = $4,227, replace the defender.

15.20: (j0, 3), (j, 3), (j, 2)

15.25: (a) $120,000, (b) old machine, $0; new machine, $7,709

(c) Cash flows (-$26,000; 4,000; 4000; 4,000; 4,000; 4,000)

(a) Old machine, AE(15%) = -$3,756; new machine, AE(15%) = $10,042

15.28(c): Keep the defender for two years.

15.29: Economic service life = 5 years

15.35: Defender, AEC = $3,495; Challenger, AEC = $3,215

